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09132200 phtrqfrtr, nbqnr-1 lrup CZ tr-p JIJ 4000 1252.0
09134200 rlFq ELurJIr u r{urn b LfrP 7> thrnn 308,8 3000 926.4
09211100 rurndhlh tnr-nhn

thrnn 1000 I 1.0
0921 1 100/l zurndhlh rnr-nhn FCUt rhrnn 2000 I 2.0092rtr00/2 Zupdfr:tr tnqhp FQUZ t]t*p 2500 11 z/.)
0921 1 1 10 Zupdh:h : nr,q, hhuurulrtrphurlr\ trcu2 t]t*p 3000 21 63.0
0921 1400 {rnluurtrgrftutr rnn.+}r j nr.{hp trcuz tr-r, 1700 15 ?qq
092 1 1630 hu\u\nnnqfrntr jnulhp trcu2 hrurn 2500 Aa 10.0
0921 1650 upqELurlF hhlnlq trcuz hruu 650 8 5.2
09331 100 ulburlhh {ruhurfu rullLhp uu hurur 994000 994.009421700 pLur\urtr qruq nnrrSrLu4 tu/rf 200 4500 900.0
0941 1400 hhrlnr-\ qpnqruh qtuq rL LAI- ilq 340 238.3 81.0
1421 1000 uqruq 2frutu pru p ur {ruIr trcu2 ri4u 6334 T2 76.0
I 81 4l 100 ru2fu ur.nruhprulfrh d hnhnoti hn FCUZ hrurn 300 r00 30.0
1851 1 180 u ffIur Lu El, q pdpru Lr2r.utrh hp uu hrutn )UU 120 60.0
18931220 d.hnplr qurlnr-urul.1 hurur 7000 20 140.0

t893122011 d,tnpfr qrujntuur\ a\atT r trLu4 hurn 2650 50 132.5
r9641000 ul n$ FpFl hu'.ulfrL ul ulil,uqpfr htu diup UU rlluil 7450 1 7.45
r9642t00 q n1 [\pfr1 htruthh ruti urnrntunnuho trcuz 4nrurI 36000 1 36.0
22211500 uruuurqpEF treu2 nnrutl 72000 72.0
2281 I 150 hnpurr.nhurp NNIT'rL_ ut- hruu 180 30

2281115011 h4prutnhrnp trcuz hurtn 350 30 10.5
2431 1550 uffr\ulnhbp UU hq 1200 5 6.0
249r 1500 unufrh& trcuz hurr-n 1000 t0 10.0



2495131 1 hruh urutunhqnlqht btnr-Bhn trcuz rhnn 2000 15 30.0

24951311/1 hurhuruurnhqnrqhl trrntBhn NNTI )rLu4 thurn 1000 5 5.0

30192100 nhtnhtr htuuurnruL FCUZ huur 80 50 4.0

30192121 qhnhhurilnn qnhl NNIT 
'rLu4 hurr,n 80 500 40.0

30192121/l qtrnhLrurlnn qnhl trCUZ hunn 350 t20 42.0

30192125 durnbhntrhn FCUZ hunn 300 70 21.0

30192136 dunnhur qnul$huh urhnurnnrlnn dhpnr-bnrl trcu2 hunn 200 5 1.0

30192132 prugntgfr2 qpul$hrn rfhluurtrf\ru\urtr rfurr.nftntrhpfr

hunlurn

NNTT 
'rL_ uz.

huln 200 1.0

30r92t37 iluurhrn qnu$hlnh tihqnrLt nd, h uurupurll trnu2 hrurn 70 150 r0.s

30192133 unhrbtn trcuz hrur.n 150 20 3.0

30192160 ctnnhluhhn trcuz huru 200 l5 3.0

30192210 qnfnihpulfrL irhptrur\qlnrtt
durur uLl hli,qnuruhht rub rurhL,ilhb

trcuz hruur
370 1n 7.4

30r92220 qnfrilhpurl frtr |rhptrur\q 2nttr
dunu ull hh,qnuruhhr ruL urrhh,rhnpn

narl I trLUA hrutn
60 20 t.2

30192230 ubnl hnhhnqilurLh unutr&rlurbpnrl trcuz huru 1350 1 1.35

30192700 qnuruhn urhh hunl urpurbnr trcu2 hruur 3000 3 9.0

30192710 unutrd.ulJurr.nhu qnuuthrruhurthb trcuz hurur 120 1.8

301927r0/1 unuh&rurJruurhtn qnruuhht ru b ur thtr
nrrl T trLUA hrurn 100 l6 r.6

3019278r tqulpurdurhht, rdnrdh trcue hurtn 370 10

30193700 rlruruururpqphplr hullurp huriuururhurlurb uhrputrlr

rlnur nntlnn nurnuburrurn

NNIT 
'rLUA hruu

3710 7.42

30194320 qburqnulL urh nnur ra /rl urullurV Feuz huru 30 20 0.6

30195921 ilurqtrfruur\rub qpuruurluurur\trhpfr huliurp
hrulurutnhurl nn qtrqnn rihqnqhhn

trcuz hurur
500 10 5.0

30196100 dnnndhhnh rur urhrurlnnilutr pt nLhnrnhbn trcue hrutn 550 120 66.0

301971 1 1 hurnhlh rJhrnurnrul runh hurut bn +npn trcuz urnlrh 70 10 0.7

301971\2 tru,rnhlh rihururnuturnh hurqhn dhqhb trcue nnnh 115 20 2.3

30197rr2ll Lurnhrh rfhuurnurturnh huluhn r.ibb trcuz urnrfr 345 10 3.45

30197230 ranraurruurtrurlr trcuz hunn 310 35 10.85

30197231 BnBuluurhurh, qnt hdhnruthh purq tuhp, $urtt trcue huln l0 1500 15.0

30197232 rdn Eruru ruhuh runruqurh tun Bn ldt ru trcuz hurtn 20 100 2.0

30197233 nnrauru ruhurtl, Bhr nrl, rdn Bl ur FCUZ hrurn AA JU 2.1

30r97234 Bnpuul urhuh httz- Luqrinr.l FCUZ hrur.n 800 60 48.0

30r97321 hurnhl, rihhlh 20 BbnBh hrurftun trcuz hurur 1000 a 4.0

30197322 Lurnhr, 20-50 rahnroh hullurn FCUe hunn 2090 I 2.09

30197332 nurhhl, rihqhlt trcu2 hunn 3800 I 3.8

30197340 unuurhurnhrhhn FLLAI- huru 270 3 0.81

30197631 DnLnTa A4 $nnrituurh rrrrT T trLUA nnuh 1850 110 203.5

30197639 BnLnB hurhr urhL (bruqriurnurnuLuL) trQUZ huru 60 200 12.0

301976M Tanurra A3 $nnrirutnh trcue unr*r 5000 I 5.0

30197653 rlur gun urprupnr-q B A3 &tnu >rurhh trcue 4nulil 1s3000 I 1<? n

30199281 bnrun LIU hruur 20 100 2.0

30199420 rlnLn ta h rnr-rihhnh huliurn, unuhd'r.hu d'pnrl rL-UA rnnuh 170 40 6.8

30192128 qnhl qhturthtr FCUZ hruur 115 20 2.3

3165 1 100 tlhLntuhl durru urdhh, on urh rudh nrrT I trL- uz. hrurn 150 25 3.75

38651 190 ! |rtrhrfururnqpurSfrur\urtr qpnl h\urnphhp trQUZ hunn 390000 I 390.0

39221420 lunqruhurhhhn hurrn 1200 5 6.0

39241141 nuLruh qnuuhLtuhuthb, dburuntu, Lfhb FCUZ hrur.n 2s0 10 2.5

39241142 nurhruh qnuubLtruhuthtr, rlhununttu, rhnpn entl) hruur 210 r0 2.1

39241210 rllr nrur.n qnuruhbrulh ruthh
NNTT 

'rL. LAI. hurtn s00 A

39263400 rutlnruh rJhururqtu trcu2 lnnr-$ 110 t6 |.76

39263500 uhndurh rhnBn trcu2 urntr} 200 5 1.0

39263520 uhnilurL rihqhtr trQUZ r.nnrr{r 310 5 1.s5



39292150 qEurqnurL ruL qnnbhphhn r\rtl T trLUA urnrrJr 3000 I 3.0

39292500 purhnh rJtrnr.un urL ruh trtuz hurr.n 190 20 3.8

39292510 puhnh tutruutnhh trtuZ hunn 190 20 J.6

39541 1 10 ruurnuhhhn trcue Iq 1700 30 51.0

302 1 1 190 rutr&tnu L ur h hrulftuL ur n q hr trcue hurtn 190000 z 380.0

302321 10/1 rurqhnurrhh rmuhlhhn rla\r r trLu4 huru 89000 I 89.0

30234630 $r hr hhrnnmratnr-h, 8GB ANII 
'rLu4 hrutn 3000 l0 30.0

302361 10 oq bnrur.nhrl hfr2nrlnr-p1rub urupp (ram) UU hurur 15500 '15.5

30236t70 oru tnruurhrl hhrnn nrnr ruh uurnp trcu2, hlur.n 33000 ') 66.0

30237t12 uhntqriruh ptnh UU hrur.n 5500 I 5.5

30237173 urptnurpfrL uurpphpfr rlhruqriruh l ruphp (usb) UU hurn 4000 I 4.0

30237240 nrnr-nubhn hu ilu: U u nqhl trCUZ hruu 121000 1 121.0

30237410 hrurlurL urnqlrurhtr rlb hhtr hhn hruur 2000 o.u

30237412 dh hhtr,hunftu\ rupq>urthL,utrl urp uu hruu 6000 1 6.0

30237460 hruiltuh r,u nqru rhLr utn hn Ir u ru n trcuz hrurn 2000 J 6.0

31 151 130 ri2ulu\rutr hnuurhpp rfrnrlrnluru\urtr hnuruhpfr
rlntuurbhnrunn uurnD

uu
hrutn 972000 1 972.0

31221200 tunnqhhnh hnurhhbtrhn h dr.unnruLhhn FCUZ nnruri 45000 45.0

3121 1400 urhpulnhl-qururhl FQUZ hur.n 750 30 22.5

31 21 1400/1 urhqulnhl-qunnhr trCUZ hunn 1 100 25 27.5

3121 i 140 ururuhntihttrhn nnlI trLUA hruur 3000 10 30.0

3t2tIt40/l uruurhnrlhrtrbn trcue hurr.n 5500 10 55.0

J 22r280 hnLrunruqriruh rrunhn NNTT 
'rr- \]r- hurur 2000 15 30.0

J 321 1 10 qubn h rihqhL rrunrJuh rirurnrluhhn trQUZ nnrud 150000 150.0

41 1000 rd hnrur hoprur.l nnr.l nn rftunurl.r nctrhn trtuz nnrud 20000 20.0

J 531210 hhhrnnurburh rruilq, 60W, 80W, 100W trCUZ hur.n 100 101 10.1

3 531220 hhbrnnruhub rruritu, 1 50W trcuz hurr.n 200 50 10.0

531230 |1 h!urpur!rutr t uniq, 200W trcuz hruur 200 20 4.0

J 531600 ohnhburrhh rruriru 120url trcuz hrur.n 600 50 30.0

3 531680 tuniuhnh hnBurnhhn trcue hurr.n 200 20 4.0

J 521210 rruriu khnhnil 20 rlur, 110 ilri, 827, 220 g, trCUZ hutn 850 14 11.9

521s00 urnuruurunh t nruuil nniluh utunpt n trcuz hunn 1900 JZ 60.8

3171 1400 dt\tnpntrurSfrtr frtnnhqprul ulubriruhhp h

tfhLnnrlnnnrr hhn
trQU2 llruri 2s0000 1 250.0

3235 230 nhhurchh hl-r u,rnhhnh dulu ull bhhhr Ftu2 r.nnr-rh 8900 1
t 8.9

3242 300 qruLqurt hb pruduLrunrun FCUZ hrurn s000 2 10.0

3255 170 utrrrun hhnutunuhhn FCUZ hutn 15000 30.0

3376 000 nnrt ntrnrl, qnrgulnurhh TanLnB FCUZ hunn 100 200 20.0

3376 400 BnBh urtr&hnnqhbhhn tnnr-rh 150 100 15.0

J+JJ 300 rurl rnnrJhphl.rurhtnh u ruhhuurunftuutn r\nl I trLu4 nnrurl 177800 I 177.8

3431 140 rundhlhhnh ilruuhn trCUZ nnrurl 1 1 2500 I I tz.c
3431 160 rrundhrh h bL r.nnuL urbrurhh dnr.ihn trCUZ rnrutrrucil I 500 I 1.5

3431 190 rlhprunhnhhn trcuz nnrurl 4s00 I

34321 130 rupqhlu\riurtr uurpp bp trcue hu-rur 2500 1 2.5

3432rr30t1 runqht ruL riurtr uurnphn tr[uz hruu 15000 I 15.0

34321 100 untrlrhbp trcuz hruu 35000 1 35.0

34321r21 urthnnr-thphhrutrhnh rntnh qurhlhhn trQUZ hr,ur,n 3500 a 14.0

34351200 rud urnilhphhurth uhhrl hhn UU hrur.n 52000 Aa 208.0

391 21 520 qnruuurhurnLuL FCUZ nnurJ 75000 2 150.0

391 1 I 190 nrucburnnnhbn UU huln 50000 2 100.0

39r5r220 hurhnttph rluruhn FCUZ nnunl 213440 I 213.44

39221480 q nLqunLufu h lunquLruhbbn trcuz hrurn 900 2 t.8

39224330 nmtthn trnuz hunn 550 Aa 2.2

39721500 h hL rnnurL urtr tnurpurqnrqhl trQUZ hunn 19800 I 19.8

3981 1 100 onh rarunilucnrohr FCUZ hurr.n 400 6 2.4



/
39812600 ,Iruppnq ilurbnr-Lhbn tr rhnrhhhn cnrrt hrurn 300 60 18.0
39831245 oaun, hhrlnLtl trCUZ hrurn 400 40 16.0
39831241 odtun dhnph

hhqnr-\ L4rugnl rlhpng
trCUZ hutn 200 88 17.6
trCUZ *r*n 400 J) 14.0

39831242 flrubpfr rln2fr r\NT I )rLUL "lq 900 10 9.0
3983i 100

Lrlurgnq hJnrphp trcuz hrun 300 50 15.0
39831281 ruutu\h tftupprluih pup trQU2 hurr.n 100 50 5.0
39831383 htnu\fr 

1 { urotiruh l luB rL_ uz- hrur.n s00 50 25.0
39831270 uulnLuq ENII' hruu 200 30 6.0
3983t247 ru prnurhutrnn h hn nltt uruhhuhonrroh hrrrr I trcu2 huur 1000 10 10.0
39831274 hLprutrh rf urppr-trutr Llnrp trcuz hurr.n 400 10 4.0
39836000 urtlhl un{npu!ruh FCUZ hurr.n 1000 20 20.0
39835000 huunu\ ilr-upphlnr dna trCUZ hruur 1000 z 2.0
39832900 qnqufahru\ huruuFu\ trCUZ hrurn s00 5 2.5
42121190 2pf qnilqhp trCUZ hrur,n 41000 2 82.0

42121190/1 ppfr qnriqhp uu hrutn 26s00 z 26.5
44111200 ghrlhhrn FCUZ hq 58 4000 232.0
44111413 qnr-nurhhnb

Luuhpuru:hh trhl\bfr
trCUZ hruu 1400 5 7.0

44111414 UU h 767 45 34.5
44163170 FCUZ dhurn 350 )n 7.0
441 1 1900 q r.FuunququL uuir huLhn trcu2 [/p 2800 80 LZzl.V44t411r0 Iunlnqurqfihl uu 4nturi 29700 I44l4lll0l 1 | funqntlurltrhp uu nnuril 300 290 87,0aal63290 i hnlntlur\trtp tr qtupruqrutrhJ rL- LAI. nnruil 353430 I ?s? r'.?
44163200 tunqnq\hhFh dhru gilurh Ltruuhp rL LAI. hur 1500 t6 24.044221000 ulurrnnulru uu En, nntt hn tr h urn u b ho runrnurnnrrr I trcu2 nntuil | tz+soo t24.5
44221140 +nhhF

ryhhnh Zptruhhhhp
FQUZ huur I 40000 1z 80.0

44221160 trcuz hurur I tsoO 10 15.0
44311170 hnur\grfutr q urpruqruhhp trcu2 urnrr}l 10000 2 20.0
44331300 rlhuu.uqrulruphp trcuz qq 600 5 3.0
4441 1000 ulu.lnur up [l En I nnu u h bt ru [r h Lr tunhurhnoh h rr r r I rlnT r trLu4 nnruil 64000 I 64.0444t1100 bnpru!trhp trQUZ nntuil 150000 I 150.0
44411710 2pfr bnpu\, fnu!rutr trcuz nnruil 82000 I 82.0
44411300 L{rugurnuh

qnr-qupurhur!ntrp
FCU2 hrutn 18000 6 108.0

444117 40 trCUZ hur.n 25000 6 150.0
44411750 uruhhurhqnr-l gh prup hn UU hrutn 3500 10.5
4451 1 100 d,bnpfr qnpbfrphhrr trcuz nplud 100000 100.0
4452 100 quruurquu qnqulhptrhp [ {ruQuLhhp rL_ L l- nnrur.[ 75000 I 75.0
4453 000 u riFru gtrnrl rlhrn urlhhF, trcu2 nnunl 75000 I 75.0
44511400 qnpbirphhpfr iftuuhn rL LAI- 4nrurl 50000 I 50.0
4451t260 nrlqrupnLqla trcuz hruur 150 10
4462 100 nrurlhuurnphtn trcuz hruur r4000 20 280.0
4462 130 L b tr tnnn tr ur grir! b 2 t nnrqilur tt r, *nhtu -n n t U n hr't*r'r t* trcuz nnturl 185000 I 18s.0
44831500 tnrbh)trhn trcu2 nnuril 10000 I 10.0
4483 300 hhptlttnlr!trhp trCUZ hruur 2s00 6 15.0
4492 s00 o Elilru u'.ud F q qfrulurulfrtr UU lrq 200 20 4.0

44921500/1 b hrlr urilurbh \ qhuluruthtr trcuz hq 92 50 4.6
CL4ullhhp unqpruhp

r2575.4s
uurnuJnrpJnlUlrhn

4822 1 000
h u r.iru gru h gru j f tr tr h h ppfrh burnurl nrlu \urtr gru Lghpfr
hrurluri+unq)uthL bluqpgr3frh rlurphp trnuz rlFturJ 165000 I 165.0

48443000 hiu2rlurqurhur[utr hrurftu\urpqluj]rtr bpuqFuJfrh
t*pbru trCUZ rjpulLI 208000 I 208.0

4881 1000 ur Erl E qruurlul tlru U hruuu quFqhll trQUZ 4null 96600 I 96.6

s0313100
quurdh hurhurhnrl uurpphpfr rlbpruhnpnqdurh b
uluhulur tnftuh burnru;nrplnrtrlrhp

ENII' qpurl 300000 300.0



s0341 100
hhnntuururuhurulfrtr urupp hpfr r{hpruhnpnqriuh h
qurhqurhriurh burnurlnrptnr-trhhn

FCU2 +Puil 50000 50.0

50531 140 {rrp&urphtrnr-pSurtr brunurlnr-p1nrl.r UU 4nluil 45600 I 45.6
601444m n2 \ruhnhru{ np n rq hnptufi nlurunnilruL brunrur nrBrnrtr UU nnuil 3s0000 I 350.0

641 11000 rlrnuuul|rh brunrulnr-plnrhh hn cnli) nnrud 150000 I 150.0
642i I 100 hurhFur3frh hhnurfu nurulfrh bunrulnr-plnrhbtp r-L_L l. nnunJ 2850000 I 2850.0
651 1 I 100 |uilh1nr- 2plr pur2funnf trcuz nnunl 12r0000 I 1210.0
6521 1 100 qurqlr pur2|umti tr0u2 nnuril 6000000 1 6000.0
6531 1 i00 h1h\rnpur\ urhntpl uh pu 2|unrr.[ r\NT T 

'rL_u4 nntuil 7500000 1 7500.0
66511180 2rupdlr2hhpnrl gnfu ru4prurtfr2n gbhpfi

uru{ruhnr{ruqprftuh brunrulnrplnrtr FQUZ +FurI 32000 2 64.0

665 1 I 180/1 2urpdfr2trhpnr{ $nfur.uiiprurlfr2ngbtph
ruq urhntlruqpr.Iuh brunurlnr-Blnr-h

FCUZ rlpruil 40000 I 40.0

6651rr80/2 2updfr2hbpnrl gnfu urrlprurifr2nghhptr
tuqruhnt]ruqprluh burnrulnr-p1nrh trQUz rlpurd 37500 />.v I

71631200 rur{urnribphtnuhtpfr r.nh}utr}rur\rulruh uurntqr.Iuh
burnrulnr-p1nrh trcuz rlpruil 15300 5 76.5

75251000 hru\urhl4hhrulfrtr ulu2urq ruhntplruh burnrulnrBlnth trCUZ nnuni s0000 I 50.0
76131 100 gurqruuulundrutr hunlu\rupqfr rnhfutrfr\ur\rul:

uquuurp\iluL E urnrul ntpl nrl_r
rL \jl- 4puil 48740 At 194.96

79141 100 irpru{tu\ruh }unphp4uullru\ruh tr urhrlh\rur.nr{ru\rutr
burnrulnrp3nrtrtrhp .uu r1puril 35000 3s.0

79631200 u2fuuurru\|rgl,hnh rlbpurulturnpuruuriuh
burnru3nrp3nrh

NNII5 qlrrud 400000 1I 400.0

7981 1000 rnuluqpurlurh burnrulnr-p1nth NNTT 
'rL L."2. nnutl 460000 I 460.0

79811000/1 urq urqpurll urh burnurlnrBl nr-tr UU nnurd 100000 I 100.0
90421 100 !\urur2phpfr dr.upprfurh bunrulntplnth trcu2 nnunl 235000 1 235.0
90512000 ury,ir rlrnfu ru rlpriuL bunur lnrplnr-h trcu2 nnuil 48940 I2 587.28
90671 100 ruiu unuhr.uhrfu h l.r tlu \ ur p nr-j b tr hp fr n2hlu gilru h

burnurlntplnr-tr trcu2 qluli 8000 1nLZ 96.0

981 1 I 140 hhlhtru\ urlhh hull nrlnr-plurh burnrurnr_Brnrhhhn t_iu nnrurJ 50000 I )U.U
C h4 w d b h p Eutn w 7a tB 7n ilt 21388.94
Ch4w{bhp 33 964.39

$frhruburuurhtnhuu\tu ti h qtinr-tftrtpfr pudhfr .l-ph: U.Zurpnr-p1nr-h1tufu


